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7 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 473 5890 | =nLs | 000 ~ 4.73| 1.80 912 s 1.00 | 6.00 ~ 5.00 58.90 | =nLs | .00 ~ 5.00| 1.80 912
2 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 499 62.19 | FnLS | 000 ~ 499\ 1.83 9.23 s 1.00 | 6.00 ~ 5.40 62.19 | Ths | 600 ~ 540 1.83 9.23
3 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 000 ~ 716 90.96 | =nLS | 000 ~ 716\ 1.93 975 ThList 1.00 | .00 ~ 9.66 90.96 | TnLs | .00 ~ 9.66| 1.93 9.75
4 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 732 9325 | #nLS | 000 ~ 7.32| 1.82 921 s 1.00 | .00 ~ 948 93.25 | =hLS | .00 ~ 9.48| 1.82 921
5 100kN/m%E#Z5| 100|000 ~ 046 106.79 |3m&E#BZB| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 1053 ~ 11.80| 106.79 |3mE#BZ% - ~ — — —
s 1.00 | 0.46 ~ 824 100.00 | =nhst | 000 ~ 824 2.18 11.02 s 1.00 | 6.00 ~ 1053 100.00 | =St | .00 ~ 1180 2.18 11.02
P 100kN/m%E#8BZ5| 100|000 ~ 013 101.89 |3mEBZD| — ~ — — — | 100kN/ %825 | 1.00 | 1053 ~ 1087| 101.89 |3m%E#Z5 - ~ — — —
s 1.00 | 013 ~ 791 100.00 | =0t | 0.00 ~ 7.91 | 2.20 11.13 s 1.00 | 6.00 ~ 1053 100.00 | =nlSt | 6,00 ~ 1087] 2.20 11.13
7 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
ZhLlst 1.00 | 000 ~ 582 7282 | #npst | 000 ~ 0.00| 1.68 848 zhLlst 1.00 | 6.00 ~ 6.60 72.82 | #nLS | .00 ~ 660 1.68 848
3 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
zhLlst 1.00 | 000 ~ 685 86.62 | Ths | 000 ~ 0.00| 1.63 825 zhLlst 1.00 | 6.00 ~ 880 86.62 | #hs | 5,00 ~ 880 1.63 825
9 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLlst 1.00 | 000 ~ 469 5843 | #hst | 000 ~ 469| 1.83 9.25 ZFhst 1.00 | 5.00 ~ 5.00 5843 | Ths | 5.00 ~ 500 1.83 9.25
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~




